Sample Paper (2023-24)
CLASS: 12th (Sr. Secondary) CODE: D

Roll No.

PHYSICAL EDUCATION

[Hindi and English Medium]
ACADEMIC

[Time allowed: 3 hours] [Maximum Marks: 60]

Y HHIE 1 G15 TGI8 THR & TY &, 5778 G TIH TY TF 3% P18 |

Y FHIE 16 T21 3fd TG SHRITTHE, (T4 T&IT16 T17 H HdN® ddey
& @rey 578 G g 7y @ b o1 8|

gy FHIF 22 T27 TYFTTITTYE, (FY G722 F23 T 3aN® [dbed &
1Y) 578 @ gaF g8 A7 3id FT 8|

gy FHIF 28 T30 I THRITTYE, (T 7% al® [ddeg & Trd) gds
Y gre 3 FHT 8|

GENERAL INSTRUCTIONS: -

*Question no. 1 to 15 are objective type questions carrying 1 mark each.
*Question no. 16 to 21 are Very Short answer type questions (with internal
choice in question no. 16 and 17) carrying 2 marks each.

*Question no. 22 to 27 are Short answer type questions (with internal choice in
question no. 22 and 23) carrying 3 marks each.

*Question no. 28 to 30 are Long answer type questions (with internal
choice in all three questions) carrying 5 marks each.
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SECTION - A
(Objective Type Questions)
Y- 1. - A HIE W UeP ¢ |
() T (@) U
WIEEIEE] @) HERIRSCH

The food component present in sugar is
(a) Fats (b) protein (c) vitamin (d) carbohydrate

UY-2. MYERHA , ThT |, 3R AT ; {5 A7 ) St e 4 Tgraa ¢ |
(P) AYHT (@) Uldee (M) ST (&) Alerdl

Gomukhasana, Chakrasana and Matsyasana are helpful in curing which
disease?

(a) Diabetes (b) Backpain (c) Asthama (d) Obesity

Uy 3. R P FaH H N Fea g |
(@) STedl &1 AgHq (@) fdhar ufdidar &1 a9
@ Tasi e @) d99d &1 T

The Law of acceleration is also known as

(a) Law of inertia (b) Law of action and reaction
(c) Law of momentum (d) Boyle’s law

Y - 4 Aisiad AW fapfa feg s a=fiRta 8 2
®) el M 3¢ BT gl
@ W @) T

Lordosis deformity is related to?
a) claw b) foot ¢) spinal cord d) hand

0y -5. BIca® gigor fafd fea e o fasfRa gg »
(@) e (@) 3ARST (1) YRd (@) S

Fartlek training method was developed in
(a) Sweden (b) The USA (c) India (d) England.

Y -6. Tl PIg ARTURI Rigpsdl 8 3R 90 U7 H31 & fore 3Tt
s A uRad glar 8, dl g P UPR ST IFaa 8
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&) SMSHICIDH ) EHIPEACH
@ 3MEHAled  (9) TTH Y DI TEI

If a muscle contracts and changes its length to produce force, the
contraction type is:

(a) Isotonic (b) Isometric (c) Isokinetic (d) None of these

UY -7 PTG (v, ) 37 Pt fapfa 8 “Kyphosis” is

Y -9 AP fIHTH T 8 ? What is Motor Development?
Y -10 Tg-&HdT & AP & e sy +19 -$i9 | faftr gamaat -

Which method will you suggest to develop endurance?

Y -11. SR UfaaIRarsi &1 UTdfiie @6a o1 8 ? What is the

primary goal of Intramural competition is

Uy -12 el § TS A TIPT T FHUT 8 2 What do you mean by
‘Planning in Sports’?

(fUB YA/ BRUT /ASSERTION/ REASONING)

TP HYA U § 1) TH B SIFUB YT (A) 3R IR B FRUT(R) F U H
EﬂfﬂTW% | ﬂﬁr$?ﬂi\[ﬁtf | There are two statements which are stated
below and labelled as Assertion (A) and Reasoning (R). Choose the
correct answer.

Y -13 UFHBYT (A) — Tl -, 3 Tt fapfa 8
PRI (R) A6 AT T g 3T H THAd §

I -

31 YHYF (A) T&t & dfbd SR (R) Tad g |

q) 3IMBYT (A) TAd & Wb BRUI(R) eI B |

) (A) 3R (R) ST T8l 8 3R (R) ; (A) I gt AR FRAT B |
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@) (A) 3R (R) ST F&l & A (R) ; (A) Pt TE SHRSAT 71e} bl |

Q. 13 (A) ASSERTION: Knock-knees is a postural deformity.
(R) REASON: Both knees collide with each other in knock-knees.

Ans: Select the correct statement

(@) (A) is right but (R) is wrong

(b) (A) is wrong but (R) is right

(c) (A) and (R) both are right but (R) is not correct explanation of (A)
(d) (A) and (R) both are right and (R) is correct explanation of (A)

Uy 14. AfUHYT (A) : TP I TH Ufreor I § g9 9871 8
PRUT (R) : 394 URRIE0r ToHT & 10 -12 i WfAd gid @

SWad Y & YR W Tg! f[ddhed AT /

o

(S<X -

31 3fYBHYT (A) Fel § AP SRUI(R) Teid & |

) 3By (A) Tad & dfPT BRUI(R) el 2 |

) (A) 3R (R) S Tt g 3R (R) ; (A) ! gt SIRSAT HRAT G |

3 (A) 3R (R) ST F&l § Al (R) : (A) Pt Te ot gt &Rl |

Q14. ASSERTION (A): Macro Cycle is the largest of all training cycles.
REASON (R) : It includes only 10-12 days of training plan ..

Ans: select the correct statement
(@) (A) is right but (R) is wrong
(b) (A) is wrong but (R) is right
(c) (A) and (R) both are right but (R) is not correct explanation of (A)
(d) (A) and (R) both are right and (R) is correct explanation of (A)

Ty -15 FHBYT (A) — U ST ITqP] HI dicl & MU B |
PRI (R) A1 formie ot dic gl

GV —
3 HUFYT(A) T&T & @FT BRU(R) Tad &l
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&) BUT (A) Tad & AT BRI (R) TEI 8 |
m(A)eﬁ?(R)aﬁrﬂe‘T%sﬁv (R) ; (A) BT ! AT AT G |
) (A) 3R (R) gl %W(R) (A) &I TG TR gt Bl |

Q15. (A) ASSERTION: Sprain is included in soft tissue injuries.
(R) REASON: Sprain is injury of ligaments.
Ans : select the correct statement

(@) (A) is right but (R) is wrong

(b) (A) is wrong but (R) is right

(c) (A) and (R) both are right but (R) is not correct explanation of (A)
(d) (A) and (R) both are right and (R) is correct explanation of (A)

Section — B

Y 16 WTel - fIY® T T T FHSA & 2 What do you understand by
food myths?

3{UdT (OR)

ATTTRIT & oI 3T HIH-PIH & RIS TATH JIMEA 2 Suggest

physical exercises for childhood.
Y 17 TeH-aTdl UR TP e fIf@T | Write a short note on Self-Talk.
HYdT (OR)

Uy 18= 53 8 T & odl & forg WIS Vel sfeur T gHag PG|

Enlist SAl Khelo India test for 5-8 years’ children.

Y 19 gAMHE Dt GAYT ST BT idad H- & g o gafde gt Jgar
?'I'\ﬁﬂ% , fequuft Eﬂﬁl’[{ | League tournament is a better way to judge the

best team of the tournament. Comment.

Downloaded from cclchanter com



Uy 20 faxiy sfiaffe @Wdl R s Hic frf@T | Write a note on Special

Olympics.

UY 21 HUTANTT B UThaT BT quid S | 5P Bis o oy forfae |,

Explain the process of Kapalbhati. Write any three benefits of it .

(SECTION = C)

Y 22 JHTARN AT F Smawgswar 3R Hewd BT gui BT Explian the

need and importance of Inclusive Education
HYdl (OR)

fa=iy sma=gear arer (cwsN) F=01 & fore =miifve nfafafiry @ g
CEIRK | EEIKIG! g‘%ﬁff P RS Eﬁﬁﬂ'{ |Explain any three strategies

to Make Physical Activities Accessible for CWSN.

U4 23 SRl A 1 TARal B b 7 IR B 1 YD 7 2 What

is the role of Yoga in preventing lifestyle diseases?
HYdT (OR)

W AT I Ugd , 3P g |, 3R a1g & Yo Jwa=it fezm-frd=n
mavhaﬁﬁnz | Discuss about meal intake guidelines for pre, during and
post sports event.

Uy 24 (B.M.I) | 3ATUPHT T AFUY § 2 63 fHaum as= 3R 170
HdTtiiex Surg arel safdd 1 o T 315 (B.M.1.) BT TUMT HIOTT | What

do you mean by B.M.l.? Calculate the BMI of a person with mass of 63 Kgs
and height 170 cms .

uy 25 gRf uiRreror &1 faar & gula FIT8 | Explain circuit training in

detail.
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uy-26 UTYfHe fRIfecar = € 2 sHeT #g<a Wi fafau |

What is First-Aid ? Write its importance.

Y 27 YU Bt fHal 99 aHb-11P] &1 faxar | guiF HISIT | Discuss in

detail any three techniques of motivation.
SECTION =D

uy - 28. fafire afifoat @) Jefias PiRm qur gafde A vga, S aur
q1e # I FuT-o1 ForAeIfyai § ; 9ufa #fTe | Enlist various
committees and their responsibilities pre, during and post sports
tournaments.

3{YdT (OR)
SHTd 3SIEIUN & ATy Wall § ged & a & gl & Uit &1 saramn

Hﬂﬁl‘[{ | With suitable examples explain the application of Newton's law of
motion in sports.

Y - 29. Xfad & fae™ ot fafe ( srsaiAfes | smsHlei~® aur
MgHIPIgAfe®) , BT fawR | guiF ST | Write in detail about

strength improving methods; isometric, Isotonic and Isokinetic.
HYdT (OR)

Tie-Be 3R e -ior Bt saren HIforg 3R gar Wt 57 fapfadl &
JURTHP UMY ﬁﬁgﬁi | Explain ‘Flat Foot’ and ‘Knock Knees’ and also
suggest corrective measures for both postural deformities.

WY — 30 HIFSIA-Y YU TR HRITH HT FIT YU USal g 2 fawaR &
Pcl'@'[{ | What are the effects of exercise on cardio-respiration System?
Write in detalil. HYdT (OR)

SIFRYMT T 3T T AT & 2 3 F9 qiffepd forar &1 Gavd 8 2 TR
aﬂﬁm | What do you understand by fracture? How can fracture be
classified? Explain.
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